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a.  49- parallel i HgH T AR T e
b. 38 parallel ' i SR I T i

c. AR @A il WRA T

d. Yefwres ara iv. Y9RA T ifssm

A.  a-ii, bHiii, c-i, d-iv : B. ad, b-ii, c-iii, d-iv

C. a-iv, briii, c-, d-ii ' D.  aiii, b-ii, c-i, d-iv
2. WO TARER W ..o...... R fofes | A v e e e sTRmRR

' A. T ESIR, 3¥Y0 ' B. Iee, 3Y¥0 -

C. ¥ 99N, 3Y¥0 D. W, 3¥40 \ :
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A FHTEE B. WIMHE®A C. WITHEEE D mEEE
4. HeeUe view R gAY =g FER (New Guinea) 219 39 TRarme SR0H & 7
A, IR HETEIR B. Y HEETR C. gHE TN D. fe<wg@rR

5. SPTOReTR AMERA VT GARIE T AT e aen -

LA, e, e, SreTer, SRRl B. Tiel, sifags, Femer, qemfaa

C. Tirelt, snfeem, qrerifn, Semr D. sufam, i, wemrifa, wemed
6. TR AW T AR 70 TS TR Ao T+ vl 2

A. SRR B. 9= uif@E c. fagar D. Todew

7o =R ﬂj@lﬁ: ) 4

. "Tam the state." 3 YT ShI=TehT TS TS TR B |

T. R TSI SHEH e T e e s fa

A =fewswgdafcs B, wmaRwafs c ks D. T afssw
Read the following passage and answer the following questions. '
Not only does the lace of education among women make the dissemination of nutrition education The
strength of the electronics industry in Japan is the Japanese ability to organise production and marketing
rather than their-achievements in original research. The British are generally recognised as a far more
-inventive collection of individuals, but never seem able to exploit-what they invcnt. There are many
examples, from the TSR Z hovercraft, high-speed train and Sinclair scooter to the Triumph, BSA and-
Norton Motorcycle which all prove this sad rule. The Japanese were abie to exploits their strengths in
marketing and development many years ago, and their success was at first either not understood in the
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West or was dismissed as something which could have been produced only at their low price. They were
sold because they were cheap copies of other people's ideas churned out of a workhouse which was
dedicated to hard grind above all else.

8. It is evident from the passage that the strength of a country s industry depends upon

. A.  original research ; B. international cooperation
C. dedicated workforce . D. electronic development
9.  The sad rule mentioned in this passage refers to

A. the inability of the Japanese to be inventive like the British
- B. the inability of the British to be industrious like the J apanese
C.  the lack of variety in Japanese inventions
D. the poorer marketing ability of British
10. The TSR Z hovercraft, high speed train, Sinclair scooter etc. are the symbols of

A. Japanese success B. British failure
. C. British success : D. Japanese failure
11.  According to the passage, prosperity in industry depends upon -
A. productivity _ B. inventiveness
C. marketing ability * D. official patronage

12.  The main theme of this passage is
A. electronic industry in Japan.
B. industrial comparison between Japan and Britain
C. the role of marketing efficiency in industrial prosperity
D. the importance of original research in industry

13. < Premege :
. WEM 9. {1 IS
g, Saay R. HHEEETHE
. yEEaEga 3. mfa :
u.  Tifeas ¥, UM GRIES
: Y. 9EE {Emfd
A FR T, ¥, ¥ B. &-Y, @Y, 7R, ¥-3
C. &-¥,@-3, TR, 79 D. &-},@-q, ¥, ¥-%

14. The Carnation Revolution ¥ 0. T ! TSFIaH sn-ﬁaail \
A, RE¥, 9@mE B, R, GgT C. qReY, BgT™ D. 9R9R, G0
15, e PRI 1 T TR T ST Gee 7 '

A SERE B. T4 c. TaomagE . D. @
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a@am =, mmmmammqmmﬁm TR FEHI IR 35 =
B 1 X THYFS SR IR Hfe e ?

A father said to his son, "I was as old as you are at the present at the time of your birth". If
the father's age is 38 years now, the son's age five years back was:

A. 14 years B. 19 years C. 33 years D. 38 years

T FF ot 9 WA FEE - Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 &
T fseot T S W At S €. §400 HEE T B wfw S W o ge 2

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive

months. How much sale must he have in the sixth month so that he gets an average sale of
Rs. 65007

A. Rs. 4991 B'ks 5991 C. Rs.6001 " D. Rs.6991
m:mmmmqammamﬁmmummma W
SR Se fevm wifrae: i i Ben 2

A man's speed with the current is 15 km/hr and the speed of the current is 2.5 km/hr. The
man's speed against the current is:

A. 8.5 km/hr B. 9km/hr C. 10km/hr - D. 12.5 km/hr
90 SR Y Pree wifes Gew T o % o9 T R

The reflex angle between the hands of a clock at 10.25 is:

o 5 lo

- A, 180° ., B: 192% C. . -195% D. 1975

T Joe Tafvra T e 9o ik <o o) R Tim T RY FHRES 9 IH THH Hi el 2.

The banker's gain of a certain sum due 2 years hence at 10% per annum is Rs. 24. The -
present worth is:

A. Rs.480 . B. Rs.520 C. . Rs. 600 D. Rs.960

- ! Sl e W T TR

10, 25, 45, 54, 60, 75, 80
A 10 - B. 45 C. 54 : D. 75
mmmzmmﬁwmmmwmm

. Toemad srerae 9. HYH AfERET

- w. ey e 8 3. SO
M. A T R yoneh 3. 9.
o.M - foeTR gew Y. . HYw T A
A, ®-3, @Y, 79, 93 ; B. ®-¥,@-3, 79, ¥-3
C. %-3 @Y, 7-, ¥ D. -3, @Y, T-¥, 73
AT G T SIRAT R T e 5 9, YR e -
A. T GEFY HTEH ORI dfee JA0e T - e e

B. <1 W HEH WU uleed! s st U - St ' o
C. WWWWWWWW - T
D. %mmmﬂ@mwaﬁﬁm@ - I T A0
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T 3095 SHa § ¥ T 0N ﬁgémaj maﬂmw@mmﬁ@w@m

 faifaa tves aoet 98 BT 61 ?
. Foa @ W M. TR
A. HIE@HA B. WITMHE C. SITHHA D. & @ITNES
mwmmmzmmmmmmm.
. Fwrgd gu B . wvEA
@, S A SEETE UH . AW
n.  fove difss weafa ¥meA 3. wfea
W i e e v. afage fe. fa
A, H-¥, @3, TR, ¥9 fi: B. -3, T-Y¥,T-R, ¥-9
C. ®-¥, @R, 73, %9 , D, ®R,EY, T, 93

Pick out the best one which can complete incomplete stem correctly and meaningfully

_"The food in this hotel is no match to what were forced at late hours.in Hotel Kohinoor"

means

A." The food in this hotel is quite good compared to what we ate at kohinoor
B. Hotel kohinoor served us good quality food than what we gét here

C. Both hotels have maintained good quality of food

D. Both hotels serve poor quality of food -

Pick out the best one which can complete incomplete stem correctly and meaningfully
Although initial investigations pointed towards him ...... \
A. the preceding evenis corroborated his involvement in the crime

B. the additional information confirmed his guilt

C. the subsequent events established that he was guilt

D. the subsequent events proved that he was innocent

It was indeed unreasonable ...... him to leave this job and start business.

A. in ; B. with C. upon D. of
e g SR SET (Charter) % Chapter- VI T WA B S ?

A. Organs " B. The General Assembly

C. The Security Council D. Peaceful Settlement of Dispute

S T O Quiet Revolution A AN SR T e g ?

A, PETEEEET  B. I g C. THI%I 3=TH D. SH®IHA

.mmmmwmﬁammwmaﬁmmm 2

a3 B 3 s c. © D.
mwmﬁ,mmmmm%ﬂﬁmﬁmtﬁmmmw
FHTRHN D ? . ~

LA, A ESHI TS , B. frere Fora= faese &%

C. v faeg® &= :  D. TEFAE T

O e W i Ted e SIS 2

A, T T TR T s B. TS - STETCTAHI HTH T Tedl Gl B

C. TR UEA sHaE T Sih D. mmmmm
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T GUR SRR, 033 T U TRA GFITes aoH A A4 / §12

% O WO R e T R Feissh S T
M. O UEES e T - . AfRaaes SRR AR
A, HIEAF B. @INHH C. %,@i¥dad D. #ifysHas

Ammmmmmmwﬁwmmm

e 7 aeA TR ol | aereTTed - e s e g 2

E R chs ek e Q. wigen ¥mea

. gaS HeH . foenedfi gew

A @A B. & UIGHA C. %,@7I{98 D. &IIIHA -
LEADING' VISl JHH! TRaviee W-9 S8 T i aRee 961 9% 2 In how many

different ‘ways can the letters of the word 'LEADING' be arranged in such a way that the
vowels always come together?

- A. 360 B. 480 e C. 720 D. None of thcse

TS SHIETE R 9 T, awmtqwﬁmmanwﬁﬁamaﬁﬁmmvmm
TR S0 9, T s ge :
A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue? .

10 11 2 : 5

A 21 B. 71 C. 7 . D. 7

TSI W 80 mmma‘mzm mmmnﬁqﬁmmmmﬁr .
BT ?

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of
the train?

A. 120 metres B. 180 metres C. 324 metres D. 150 metres
AfSH T TSR : :
A, YO ERE &5 Ui e fream %Fa@ B

B. wmﬁﬁﬁmuoaﬁmm

C: wmﬁwmrwmmm

D ;xxxmmmﬁm@mﬁ@mﬁw@mﬁw
: :

I g Hoh! SR 7 D B e TR B :

) HIH UL Herh! ufeel Aera =g Jear sde o |

.3 wﬂﬁaﬁﬁgﬁmﬁm&awqﬁmﬁm

TE SR B | : : ;

A () = () e B. (30T (3M3a wel
C. @ENIEMIATEE D. (30 Iera (3m) Wl
ITE (Altitude) &N YT ST TIHH SRGH SRS B 2

A T AR B. A 91gHvSH 99

£ margqvg?haam . D. 9! YEal HUHel
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43. TS (Goiter) B FIFHA TS ?

A T - B. wdis®  C. wEmifed D. smfer

44.  One major ...... between the Election Commission and the Union Government related to the
powers of the former in respect of the deployment of central police forces at places where are
elections is held. - _ .
A. irritant B. conflict C. pain ' D. culprit

45. We shall not to be able to use your ability in court unless we can find someone t0 ...... to
statements.
A. corroborate B. avouch C. verify D. approve

46. Heis too dull ...... this problem. : .
A. solving B. -tosolving C. tosolve D. solves

47, @l IS W : j
) IR EATT T orrrerrrecenns k3
) Father of Botany ¥R fafe 3@ & ........... gt kol
A. Ichthyophobia, Theophrastus B. Ophiodiophobia, Theophrastus‘
C. Pogonophobia, Charles Darwin D. Cynophobia, Theophrastus
48, eifiEER SREERE BE 2 Ny © oA
A fowm dwSA B. eH ©H°

C. vafafes et D. &g Tew ufee

49. TAFETEH! SR AT T WA ® WFD ?
A. Horology B. Cancerology C. Osteology D. Oncology

mqﬁmmmmmzmmmmmwmmm
Bl

The following pie charts exhibit the distribution of the overseas tourist traffic from Nepal. The two
_ charts shows the tourist distribution by country and the age profiles of the tourists respectively.

Distribution of Overseas Tourist Traffic from Nepal.

Below 30
years
15%

Above 50

years

50%
Japan
20%

40 - 49 years
20%

50. i aiaeE Sare Tes SRR O SaEa T Y 2

What percentage of Nepali tourist went to either USA or UK ?
A. 40% B. 50% ‘C. 60% D. 70%
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'aﬁﬂmaﬁmmuoﬁgmmﬁu*-ﬁmmw?

The ratio of the number of Nepali tourists that went to USA to the number of Nepali tourists
who were below 30 years of age is ?

A 21 : B. 83

C. 38 D. Cannotbe determmed

fafir Seeeasd Rxmmm WHURT SIS SREASH! TSR FesAFar %
TR AeliEE RESREAIE! WU TEH We ¥ Y03 FHam i Auwiee wiewan v R
T W ?

If amongst other countries, Switzerland accounted for 25% of the Nepali tourist traffic, and
it is known from official Swiss -records that a total of 25 lakh Nepali tourists had gone to
Switzerland during the year, then find the number of 30-39 year old Nepah tourists who

_went abroad in that year ?

A. . 18.75 lakh B. 251lakh C. 50lakh D. 75 lakh
- Window is to pane as booK iS t0....cc.venen.... )

A. novel B. glass C. cover D. page

Iuger fareed o oot Aot 90 e '

2,8, 14, 20, 26, 32, 38,..7, ? .

A. 2,46 B. 44,50 C. 42,48 D. 40,42

7,10,8, 11,9, 12, ... Softe! WEh TCH W F 35§ 2 ,
Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A7 _ B. 10 £ Q2 D. 13
Statement: Believe me, I have read it in newspaper X.
Assumptions:

i.  Newspaper X gives reliable information/news.

ii. Iamreporting exactly as it is given in newspaper X.

‘A.  Only assumption I is implicit B. Only assumption II is implicit

C. Either I or II is implicit ‘ D. Neither I nor II is implicit

Violating an Apartment Lease occurs when a tenaint does something prohibited by the legally

binding document that he or she has signed with a landlord Which situation below is the best

example of Violating an Apartment Lease? :

A. Tim has decided to move to another city, so he (calls his landlord to tell hxm that he is not
interested in renewing his lease when it expires next month. B oil

B. Valerie recently lost her job and, for the last three months, has neglected to pay her landlord :
the- monthly rent they agreed upon in writing when she moved into her. apartment eight
months ago. »

C. ' Mark writes a letter to his landlord that lists numerous complaints about the apartment he has

. agreed to rent for two years.

D. Leslie thinks that her landlord is neglecting the building in which she rents an apartment She

calls her attorney to ask for advice.
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Statement: Should Nepal encourage exports, when most things are insufficient for internal use
itself?

Arguments: .
Yes. We have to earn foreign exchange to pay for our imports.
No. Even selective encouragement would lead to shortages.

- A.  Only argument I is strong B. Only argument II is strong
C. Either I or II is strong D. Neither I nor Il is strong
! o VIS 7% VIsReedT O G ?

- Which word does NOT belong with the others"

A. fair B. just C. equitable D. favorable
WY WHR e O, ?wvmmwmmmm@w
T RA S ?

A 498 =~ B.. %-4R C: -8 . D. -

TR G X 3R Y T AT T G T Son T S Mt v 5 8% 2
A. Biodiversity B. Forest Principle C. Climate Change D." Atomic Energy
G TH19T (loudness of sound) W k& 2 ’

A. Frequency B. Amplitude

C. -Pitch . D. Wave length

A1 T A FRO (Bacteria/ Virus) ﬁﬁﬁl@lﬁﬁl‘l@ﬂl

1. Tetanus & i.  Bordetella pertusis

2. Tuberclosis ii. Mycobacterium tuberclosis

3. Whooping cough ) iii.  Clostridium tetain

4. Measels ' iv. Paramyxo virus

A.  1iii,2ii,3i,4iv B. 1i,2ii,3iii,4iv f 23 1iv,2ii,3iii,41 D. 1iv,2ii,3i,4iii

wmmmmmmwmwmmm A
s

A, THIRYY B. ®9’4Y% C. TR D w1’
mﬁmm:mmmmmmmmmmmw

TR

A.  GAHRN STafaEa STErs it ol - PR

B. U<isUd&lfasm s 5 9Ra

C. U wemfs sRRm yfaed  ——» @

D. e F=Een . i EHSIeaUs
What is the correct passive sentence of the following sentence?
Who hope that we shall win the match.

A. The match is hoped to be won

B. Match winning is our hope .

C. Itis hoped that the match will be won by us

D. Winning the match is hoped by us

«
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What is the correct mdlrect sentence of the following sentence?

He said, " I have often told you no to wast your time."

A. He said that he had often told you not to waste you time.

B. He said that he had often told him not to waste his time

C. He said that he had often suggested to him not to waste his ume ‘
D. He told that he had often told him not to waste his time.

- He is the person who is ...... to blame. ,
A. mostly B. sure : C. most D. bound

) mmmmm%m HMRH B
M) ST HY faemra FI (IFAD) =1 W1 7 939 71 yua 811

A (3)T (@) 33 TR B. (@NIEMETE

C. @3N =, (3n) T - D. (3 T, (3 T

e aRoRmsiaws? ~

A FRERR - B. I3 C. FRIRY¥ D. IR Y
GRS 004 JARG .....o.o. Toven T TG ST G TGN, ... T SO ST 7Ry oy |
A, 9Y,9Y, 90 B. 9%, 9% 9% C. 94,9%90 D. 9¥,9%3% '

ST Faea o weaTee faee firem TN

Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: : Answer Fi igures:
ARSHEINS RN
A @B © D) (1), .=£2) B @ - ©
A 1 : B.. 2 €413 D. 4

T e e Prysrees e T wmegR )

Find the number of triangles in the given figure.

A 8 B. 10 G2 . D. 14 ,
ﬁ%mmﬁ%m@@anawﬁ@ﬁwﬂammmm
?

Three different positions of a dice are shown below. How many dots lie opposite 2 dots?
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‘Select the figure which satisfies the same conditions of plaéement of the dots as in Figure-X.

7y

: {x) (1) k) (3) (4)
A1 B. 2 C. 3 D. 4
mmﬂmmmmm@mm
A. Tuamg, SemE), FEg W, FeHR B. wiorE, IS W@, fmgmam@’f
- C. Ty srsg W, FieE, FAR D. e, g, 3rsg P, HieHre!

30 T A IR TR P RIS JeE e Hhedt weane Tefen e 1 2

. A, Q099 AR B. 090 ANEERI0 C. 1098 AFWRIY  D. . 098 AW R

099 F e e Ade TR I8 e F T ?

A e e B. fEdisd  C  wgIEm D. ifET e

i S faga SRS S R e -
mmmmmmammmw@au
T fmfor T 000 7 FE HTHI A |
A ST IS 09 HTH 6 HT TR |
ERECited ' B. @uHfe®
9 o D. wfss

mﬂmwﬂxmﬁmmmmmaﬂMm
A, 9% HfeE B. R%.3¢ v C.  R.90 yfeerd D. 3X.30 yfaee

We had to pay more taxi fare because the driver brought us by a ............ route.
A. circular B. circumscribed C. longest - D. ' circuitous
He was accused ...... stealing his aunt's necklace. ' :
A. for - B. with : C.. of D. on
He knew everything better than anybody else, and it was an affront to his .......... vanity that
you should disagree with him.
A. . overstrung B. overweening C. overwhelming D. overwrought
Question: How many children does M have ? ;
Statements:

H is the only daugh’tef of X who is wife of M.

K and J are brothers of M. X

I alone is sufficient while II alone is not sufficient
II alone is sufficient while I alone is not sufficient
Either I or II is sufficient

Neither I nor II is sufficient
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85. e fraRTeR| : :
T w TEE -
3) =rSH T 9. HI®H T AR
&) T UvR R. TR
3) SH e - 3. W
%) J9WY Teen e - Y. U
F ooz %
A Y 3 3 3
B R iaR. wgh. ¥
C- ¥ § 3 %
D.:%we® %
86  The smallest 3 digit prime number is:
A. 101 B. 103 C. 109 -+ ' DaB

87. TRt @R

Find out the alternative figure which contains figure (X) as its part.

T ENACEE

X (1)) 3. @)
: A 1 G B2 C. € " D. 4
88. figumt THIEH AT T4 TR < e weeen i e

Group the given figures into three classes using each figure only once.

. OJ[D]
| | K

1 2 3

1A

3 5 6
o 19[AlA |
‘A. 1,5,8;3,4,7;2,6,9 B. 1;3,6;4,5,9;2,7,8
C. 1,3,6;2,5,7;4,8,9 . D. 6,7,8;1,3,7;2,4,9

89. WWMWWWWWWWI

Select a suitable figure from the four alternatives that would complete the figure matrix.
TO l (]
X »

XX

1) @ 3 (9
A.

NP>

ANR N

o]
N
0
w
)
I
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F. TR q. FEwRl -

@ 3. HHAHY

. gfam 3. SR

W, T ¥. gea

A, F-3, @R, T, Y ' B. &Y, &3 79, ¥R
C. ¥, T, 73, ¥R D. ®-3 &3 79, ¥-¥

F. WIA.R @. TUSH Fa T, T HeT . w9

T WAL A <

A G-T-U-H-F B. T-@-¥-%-%

C N-@-T-9-%F . "D, M-@-F-T-H

It's very kind of you to ...... to speak at the meeting. :

A. accept B. - agree C. comply . D. concur
Pakistan lost a ...... wicket just when they seemed to be doing so well, and that led to their
eventual defeat. :

A. critical B. - crucial C. sensitive D. providential
firga®y Feue, 016 2 e Qe e v Rl 2 '
A. RRFH,R09E B. 9’FARNE C. ¥ 1,096 D. 949, R095
Freedom in Exile 7% G & Sl 1 ?

A, owd wuEen B. TOR @M c. - T Hice D. B[S
R T

. memwm—‘ ?oﬁamﬁmﬁa’ifaa w@??u
=. eoawﬁaevamnmwmfmu
T 9¥ T, Qoﬂc%ﬁawmmaﬁmﬁqu@@l

A wiafss B wiNRw c. wmInfew D. wifs®
Sita's heart ...... at the sight of the beautiful diamond necklace.
A. leapt B. stopped C. slowed D. ran

- In the following questions four alternatives are given for the idiom italicised and underlmed-
* in the sentence. Choose the alternative which best expresses the meaning of idiom. .~

He was undecided. He let the grass grow under his feet.

A. loitered around = -B. stayed out C. sat unmoving D. moved away
e e SRR T SHen! A e 2R S T TSR | '

Choose the alternative which is closely lf_esembles the mirror image of the given combination.
ANS43Q12

' (1) AUSHEDLS (2) STOEMSUA

(3) 2UAEDOST (4) TSOBPEAUS
A 1 B. 2 c. 3 D 4
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100. mxmmmmﬁmmmwmm@mw T
TSR |
" Find out from amongst the four alternatives as to how the pattern would appear when the
transparent sheet is folded at the dotted line.

----- “nwws wewuw mevew

Bl d "

CX) ) ) 3 @)

tassnnsuann
lenwvansaunw

»
s
'

F : B. Q. c 3 . D. 4 >
«
Q.No: | Answer g Explanation )
Key

1 |B 2o [3p |4a [5A |eD [7B [8c -|op [10B
in.. e 12 |13€  [14C j15D..416C
17 A. Let the sonspresent age bexyears Then, (38 )=x

= 2x =38.

=x=19.

*. Son's age 5 years back(19 5) = 14 years.

18 A. Total sale for 5 months = Rs. (6435 + 6927 + 6855 + 7230 + 6562) = Rs. 34009.
' -« Required sale = Rs. [ (6500 x 6) - 34009 ]
= Rs. (39000 - 34009)

» =Rs. 4991, -
19 =7 ( Man's rate in still water = (15 - 2.5) km/hr = 12.5 km/hr.
Man's rate against the current = (12.5 - 2.5) km/hr = 10 km/hr.
20 |D. : 125 360 125
’ Angle traced by hour hand in =7~ 12 hrs = (ﬁ )= 3125

Angle traced by minute hand in 25 min = (E X 25) £150°,

e} o

' : boad. X 1 1
.. Reflex angle = 360°—(312 - 150) =360°- 1625 = 1975

21 = Cy B.G. x 100 24 x 1007
D "(RatexTime)" ( 10x2 )= i
100xTD.  (100x 120 A
il ~Rate x Time ~ =k ( 10x2 ):_Rs. 600,
|22 C. Each of the numbers except 54 is multiple of 5.

=

23 4B [25A [26A [27B  |28D  [29D [30D [31C
13250 B 33.C [34B |35D |36A ‘
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‘| The word 'LEADING' has 7 different letters.

37 C.
When the vowels EAI are always together, they can be supposed to form one letter.
Then, we have to arrange the letters LNDG (EAI).
Now, 5 (4 + 1 = 5) letters can be arranged in 5! = 120 ways.
The vowels (EAI) can be arranged among themselvesin 3! =6 ways.
. Required number of ways = (120 x 6) = 720.

38 A.

39 ; 5 50

b Speed= 60 x 18 m/sec = 3 m/sec
Length of the train = (Speed X Time).
50 :

Length of the train=‘5'x9 m= 150m

4 |C 41D |42B  |43D  |44B 45A  |46C  [41B

48. c 49.D ‘ _ '

50 B. (40+10) = 50% (from first chart)

51 B. 40:15=8:3 '

52 D.y Tourist traffic from other countries to Swiz is 20%.

) Amongst this 20%, 25% of traffic from Nepal. ' .
So, 25% of 20% = 5% corresponds+to the Nepali traffic in Switzerland.
) 5 % corresponds to Switzerland's 25 lakh. Hence 15% will be 75 lakh.

53 . |D. A window is made up of panes, and a book is made up of pages. The answer is not
(choice a) because a novel is a type of book. The answer is not (choice b) because
glass has no relationship to a book. (Choice c) is incorrect because a cover is only
one-part of a book; a book is not made up of covers.

54 |B. This is a simple addition series, which begins with 2 and adds 6.

55 B. This is a simple alternating addition and subtraction series. In the first pattern, 3is
added; in the second, 2 is subtracted. .

56 . B. The narrator in the statement clearly insists on the reliability of the fact that what
he said, he had read it in newspaper X, and not on the truth of what he said. So,| -
only II is implicit o

57 B. Valerie signed-a legally binding document that requires her to pay a monthly rent
for her apartment and she has failed to do this for the last three months. Therefore,

_ she has violated her apartment lease. :
58 A. Clearly, Nepal ‘can export only the surplus and that which can be saved after
' fulfilling its own needs, to pay for its imports. Encouragement to export cannot
lead to shortages as it shall provide the resources for imports. So, only argument I
holds.

59 D. Fair, just, and equitable are all synonyms meaning impartial. Favorable means
expressing approval. _

60 C 61.D 62.B 63.A 64.B 65.B 66.C 67.B

68. " 69.B 70.A 71.C ;
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72 The figure rotates 90°CW; gets reduced in size and also gets enclosed in a figure
with one less number of sides. : .

73 The figure may be labelled as shown. .

A B i =
I
3]
H G F E D R .
The simplest triangles are AHG, AIG, AIB, JFE, CJE and CED i.e. 6 in number.
The triangles composed of two components each are ABG, CFE ACJ and EGl i.e.
4 in number.
The triangles composed of three components each are ACE, AGE and CFD ie. 3
in number.
There is only one triangle i.e. AHE composed of four components.
& Therefore, There are 6 + 4 + 3 + 1 = 14 triangles.in the given figure.

74 From figures (ii) and (iii), we conclude that 1, 6, 3 and 4 dots lie adjacent to 5 dots.
Therefore, 2 dots must lie opposite 5 dots. Conversely, 5 dots must lie opposite 2
dots.

75 In fig.-(X), one of the dots lies in the region common to the circle and the square

: only, another dot lies in the region common to the circle, the square and the
rectangle only Dot and the third dot lies in the region common to the square, the
triangle ‘and the rectangle only In each of the figures (1), (2) and (4), there is no
region common to the square, the triangle and the rectangle only. Only fig. (3)
consists of all the three types of regions.

76 7€ T8A  TE79n [soa [stp  [s2c [83.A

84 From I, we conclude that H is the only daughter of M. But this does not indicate
that M has no son. The information given in II is immaterial.

85

86 The smallest 3-digit number is 100, which is divisible by 2.

™ 100 is not a prime number. . . :
101 < 11 and 101 is not divisible by any of the prime numbers 2, 3, 5, 7, 11.
-*» 101 is a prime number.
Hence 101 is the smallest 3-digit prime number.
87 W 7
[ o .
A . . ﬁ‘
88 1, 3, 6 contain one complete circle each.
2, 5,7 contain a semi-circle each.
4, 8,9 contain a triangle each.

89 The third figure in each row comprxses of parts which are not common to the first
two figures.

190 91.C [923 |93.B [94.C [953 96D [97.4 [98.A |99B]100D
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Revolution Types

Green Revolution : Food. grain production
Evergreen Revolution: Overall development of agnculture
Black Revolution: Petrolenm production

Brown Revolution: Leather production

Golden Fiver Revolution: Jute production
White Revolution: Miik and dairy production
Yellow Revolution: Oil seed production

Silver Revolution: Egg/Poultry production

Red Revolution: Meat and tomato production -
Round Revolution: Potato production

Silver Fiver Revolution: Cotton production :
Pink Revolution: Onions and prawn production
Grey Revolution: Fertilizer production

Blue Revolution: Fish production

casmanud . :
e, ST, TS A mmmﬁmmmmmﬁmm
ﬁlwammm(mm)mﬂﬁml '
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!aajawwﬂatélt C(SetB)

mzmmmmtmmwmmﬁm

a. TR 1. g1
- b, USRS N 2. 9
c. W% AR (fmew TR) 3. St
d. diferen ’ 4. A
A.  a3,b-1,c4,d2 ' B. a2, b4,c3,d-1
C. a4,b-3,c-2,d1 : D. a-3,b-4,c2,d-1
2. AU R e e IR St e ST ey R
CA. . HHIY, G, VAT, SO, 7o . B. #HIG, G, Yo, Jeafers, o
C. TH, HHg, I, eaifere, TorT D. T, AT, Jeaiers, ST, ToreT
.3, wﬁmﬁmmmwmﬁa ......... ez ....... fren ssdm war 8
(A, RO, O¥IL . B. . 96Y, 993 C. 3340, 935y D. 39&Y, B]Y0
4. A T8 FA Foea RS 2
LA, dAragEm B. foadam C. ®eaEl - . D. wEgE
5. OV e qehl G- WK e ? .
% Y-UEER W@ O« § R T FOER q. e gUR
A FH1" B. &I . C. ®IW D. 7w
6.  Cockpit of Europe ‘ﬁ?%ﬁ?ﬂ?ﬂ?ﬁﬁ%7 :
A H B. AT C. =fdm D. dfes=m
7. mﬁmﬁ%w@mmﬁwwm
Z,W,S,P,L, LE,?
: A. B _ %S A G0, 82 b. Z
8. WS o ! A SuTes e B TR -
QIF, S2E, U6D, W21C? » ,
A. Y44B. B. Y66B C. . yasB. - D. Z88B

9. fmXx R FEANEAE TS T AR TS 2

Which of the fol]owmg finished patterns can be obtained from the plcce of cardboard (X)
shown below?

’“—ﬁ@@%

x) . (1) (2) (3) (@
A._ 1 B.: 2 G 3 D. 4
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11.

12.

13.

14.

15.

16.
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| T ST R TR S §9 ?
A @ B. g . G A . D. ®UH
MIND become KGLB is and ARGUE becomes YPESC. Then DIAGRAM becomes"
A. BGYEPYK - B. BGYPYEK C. GLPEYKB D: . LKBGYPK
T AT T T fo S TR |

Select a suitable figure from the four alternatives that would complete the figure matrix.

|EEE
|
4

ofo|eb|d| ¥

(1) (20 (3) (4)
A 1 B. 2 o K ey
ﬁaﬂﬂa@ﬂ i
& mm@mmmm@mwmmmal
. ST TG T T 4R ¥R A1 T |

| |8 | R it

Cq o ETEE YT S T g oA WU FHISTE e AT | S e |

A, wyaEfes - B wUufes e mynfew D. wafs®
Pick out the best one which can complete incomplete stem correctly and meanmgfully

I felt somewhat more relaxed ...... : 3

A. but tense as compared to earlier : B. and tense as compared to earlier

C. asthere was already no tensionatall ~ D. and tension-free as compared to carlie'rb
Pick out the best one which can complete incomplete stem correctly and meaningfully.
It is not easy to remain tranquil when those around you ...... ; ' '

A. behave in a socially acceptable manner B. exhibit pleasant mannerism

C. are losing their heads ' © D. agree to whatever you say

He lives near a lovely ...... of countryside.

A, length B. piece ~C. section” D. stretch -
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18.

19.

- 20.

21.
22.

23.

Uowy
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! e P den sf s 2

Find the number of triangles in the given figure.

A5 B.ivq . ol ) .D.AIO-
o X 1 @t Torgeea! v e o g e @ 8 2

1A A ER B

X) 1 @) 3) ©)
A1 B.. %2 C. 3 D. 4 -
TRAT Tie=(ell S SIRART W TS e To7eT TE) B-H1 g, 2

% RS wedsm  w iy o T TafreEs e

A FIEHUE B. @INHH ‘C. wmINEm D. A gy
mmmmm««mmmmm
A IR, B9 VR, T Ve, TH UG, R 6
B.  JERIR, B YITE, TH 3018, = V1, 9T 318
C. TR, 1M IR, B IIE, 5 W16, YU e
D. M VI, I WG, B IR, T W6, TS U

-MWWMW?@WMW#@M ?

A. fR¥ER B. a.—;:m C. fywer D. 93y
27,21, 30, 23, 33, 25, 36, 2 o
A 27 B. 29 Cc. 25 I 31

wﬂmmmzwu@wﬁ@mmmmnﬁmﬁwﬁmmml

T (A) : W9t W o511 7785 |

HROT (R) : TR @Y ST TS |
W(A)IW(R)géaﬁmiﬁzwm)éW(A)ﬁaﬁmmwl
A (A) THRY (R) 3 3% BT BRI (R) K (A) T 91 = 8 |
¥ (A) 3% B W SR (R) T 3B |

¥R (A) e BT FR (R) T B |
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s Tereneras! Frrafta oiten welis < wfem g9 | A s T 009 aHfirer 2fa et 003 TR | &l
) 1 USe farenHie = sife it © 3lie URET U ST VEH SEETh B
In a school the periodical examination are held every second month. In a session during April 2001 -

March 2002, a student of Class IX appeared for each of the periodical exams. The aggregate marks
obtained by him in each perodical exam are represented in the line-graph given below.

24.

25.

26.

27.

28.

- Session 2001 - 2002.
Maximum Total Marks in each Periodical Exam = 500

410. 7—— —
400 1 |
390 -

- 380 =%

370 +——

Marks

360 -

350 +——— SRR A2 M S - —

" Marks Obtained by student i in Six Periodical Held in Every Two Months During the Year in the v

405

FRQ o i R A S - PERT € T, AR N AT

330

Apr-01 Jun-01 Aug-01 Oct-01 Dec-01

Periodical Exams

Feb-02

Letos s
1

@mmmﬁmﬁ@ﬁmqﬂmahm uéma‘tuﬁm%aﬁm ?

In which periodical exams did the student obtain the highest percentage increase in marks

over the previous periodical exams ?

A. June, 01 B. August, 01 C. " Oct, 01

- el ] W U S e § T UICH! Sl Hi AR W 2

" The total number of marks obtained in Feb. 02 is what percent of the total marks obtained in

April 01 ? .
A, 110% B. 112.5% C. 115% D. 116.5%
IR TR | T TRETET SH I Teranefiel ST Rt Wi S W TRe! WS 2

D. Dec,01.

What is the percentage of marks obtained by the student in the pefiodical exams of August, ‘

01 and Oct, 01 taken together ?
A T13.25% B. 75.5% C. 71% D.
1 St S Sk et T TRe! Sl ot w2 3

78.75%

What are the average marks obtained by the student in all the perlodlcal exams durmg the

last session ? ;
A. 373 B. 379 C. 381 D.
1 e el sftree afeTe! gorT SiE FH Whl B 2

385

In which periodical exams there is a fall in percentage of marks as compared to the previous

periodical exams ?

A. None B. June, 01 C. Oct, 01 D. Feb, 02
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29.  HAETe TR VORI SUeE R SRR S T THE, ¢ Select a suitable figure from th

Answer Figures that would replace the question mark (?). :

Problem Figures: Answer Figures:
NV 2 (T <
A ®B (© (@D o @ 3 @ &)

A1 B. -2 C. 3 D. 4
30. 3% w1 T o wile TR | :
"~ - Choose the figure which is different from the rest.

N2 [71=]

@ 6 @ 6

A 1 B. 2 TR S D. 4
31. o i v SAfEeE @ v 2 . :
A.  HFET B. @R - C. "fem D. wEE
32. R AT S e See WO Tieeh SReE E S 2
A, AU FIRH A e, 000 B. e Sfeeeoe! Hiagm, 09y -
C.  ure tfeRrsrreh! diaem, Jove D. FTereh! A fauE, 083
33, i ST feRivaeE T AR/ § 2 -
9. TEgEddl gES . IRATHEE TH 3. TS STESAEE I
A. 9IRAE B. RI3FH C. 9339 D. #fys as

34, ‘“wiec AUHR : T ATHR A T HT T ARG R 2 2
A, HFE AfuER fava aeem, fge, 9.3 :
B. e fava afeen weiem, 3, 904,
- C. S forva Afeen geem, BT, 9350
D. =l fava afeen wdiem, S, 921y
35. - fo=sdiemm 99 : vae Haer fege) 2
A. T , ~ B. Tgfeq
C. =T T W 9T SSihT TR D. AR A tfeega

Study the following passage and answer the question based on it ( 36-40 )

The object underlying the rules of natural justice "is to prevent miscarriage of justice" ans secure "fair
play in action" As pointed out earlier the requirement about recording of reasons for its decision by an
administrative authority exercising quasi-judicial functions achieves his object by excluding changes of
arbitrariness and ensuring a degree of fairness in the process of decision making. Keeping in view the
expanding horizon of the principle of natural justice which govern exercise of power by administrative
authorities. The rules of natural justice are not embodied rules. The extent of their application depends
upon the particularly statutory framework where under jurisdication has been conferred on the
administrative authority. with regard to the exercise of particular power by an administrative authority
including exercise of judicial or quasi-judicial functions the lesislature. while conferrine the said nower
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may feel that it would not be in the larger public interest that the reasons for the order passed by the
administrative authority be recorded in the order and be communicated to the aggneved party and it may
dispense with such a requirement.

36.  "The rules of the natural justice are not embodies rules' means that these rules
A. are left deliberately vague B.  cannot be satisfactorily interpreted
C. are flexible - D. cannot be visualised

37. From the passage it is clear that it is the legislature that
A. invests the administrative authority with enormous powers
B. embodies rules »
C. has the larger interests of public welfare
D. leaves administrative authority enough discretion to interpret rules
: 38. According to the passage, there is always a gap between _
A. rules of natural justice and their application
B. conception of a rule and its concretisation
‘C. demand for natural justice and its realisation
D. intention and execution

39.  "To dispense with a reqmrement" means
A. to do without the demand B. to drop the charge
C. to cancel all formal procedure D. to alter the provisions of the case

40. According to the passage, natural justice can be brought about by
® A* administrative authority remaining vigilant
_ B. administrative authority upholding rules of natural justice
C. administrative authority farming rules suitably
D. administrative authority observing the rules. of fair play
41. Whitley Council TR R ?
A FEEE R T e
B. SHGNITEH! faaR THIEH T €I
L. TEE AYEEH ST 9ol HRET! iy T e

: D. TR &E! S TH IR ’
42 wmmmmmmmmwmm

. Fr@wERsRTe 2. iR faf

3. oeAm fae W , v. feremon dta

v, e e et ' ' : A
A 4R34 B. R-9-3-¥-Y C. 9-3-¥-3-4 D. 9-3-3-4-¥

43, TSR YU THIR SR Tieeee ureeeen e s |
A, F9 HITEA, B SAEN, S SR, SR AE 3
B. g TeeH, STard SrH, Y1 ST, HIETE AR
C. T HIHEA, ¥ SATENT, IS A, =R AT
D @mmmmmmm
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46.

47.
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Eﬂﬁmﬁwmaﬁmmmm W TR FHOfor SO GaE SRR
(Sifieem) T, 00¥ THGHT et (Siften) U, 00% Hher g v weH S 2

A. 0¥ 3T 9 B. 00Y I 9% C. 08y H=A9 D. 00Y &9
AU Women in Politics Report, 2017 a:amm mmmsﬂmtﬂﬁa ?
A IR - B. IR D. 9%

mﬁaﬁaﬁaé%m =T, mmmma

09 o°@ “© 0

mﬁ%w@mmﬁmﬁznﬁﬂa
10, 18, 28, 40, 54, 70,2 :
A. 85 B. 86 87 D 38

mﬁaw@tmmﬁfaﬁwm

1:1::25:?2

A. 26 B. 215 C. 240 D. 625
DRIVER = 12, PEDESTRIAN = 20, ACCIDENT = 16 thn CAR = ?

A 3 B. 3118 C. 9 D. 6

FORT TF N1 The TR | ST TR T TEee-|ets 9 st mmmr
IGeh! WIEET TRl | O e ehere wTeats i e Wuw Seaeeensy e Suw steier AT
mummmwmmﬁmmmmmmmmv

“A. 25 B. 28 G230 D. 31

T3 X PR e wramT wse Al R 4 ek i =e T U 3 Bk e o e | afe fy
Tormeren e & w1 9 ) i g S Wi i Rt @re 2 ‘

A Ruf@ B. Rfe- (GEER 5 Lo S D. 9o fe :
mﬁ%ﬁ@smmmmmmmmmﬂg&smmﬁmm
HEs?

A. 350 kmv/hr B. 300km/hr C. 600km/hr D. 720km/h1

aﬁmaﬁmxmﬁaﬁzmwmaﬁummmmﬁmm
92?2 .

A 4% P . B.%3 RO o1 7 D. &%

T SRY, 095 mmmwmmmm@mmw
%. ®We @ Afg . FE ¥ W '

A F-T-T-H 3 B. @-%-T1-¥

C. T-F-5-7 D. @-T-%-9 :
S ARSI ST SERH WHRRE gore! 0 fesa e ST w5 2

A. Tiraes, Hged, e, fafemy B. firwess, Hrygeh, fafem, 2dme

C. fTirmes, e, feeh, fafem D. firwee, Sefe, fafery, et
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Siret e W&t ST fes e | ‘

) Y fawm geM ; 9. JETaA _

am) ATt @ 3. S A :
3)  TIREE e ' 3. iR &

%) A SEFEE WifHH ¥,  HIS &

MW,IAR, P, N D I, AR, B[ H

0

A, ILIAN, W, N B, ;LA B R
A, TA9RRE T AT YHO T FARTH o |
B. T R09% T STEU- TRETHT W0 ¥ HEA foia e 51

c m?owmw@mnﬁaaémﬁwwmmﬁmﬁammmﬁn
D. mﬁwa&mmmm-@m :

T EE HE g e | 2
T TR geeher- mm@mmmw@m o
A 9 B. ¥ C. amfE’ D. damEd

TG A ST e e ufseaie! e fremsaRd |

A. e Aur, A9 T EER SR, TRES, Jue fafisE

B. TiRa@Tas, Y Jure, et ST HAR HeH, Aot s

C. e g HER T, e e, TRErs, Juret e s

D. TIR@EE, 9 ¥ SAR ey, edt Tue, et fafism
ﬁW(WWM%WWW)ﬁWW??

A. Roefean B. 3R e C. IR fwHL D. qoo fma
Ambition is one of those ......which are never satisfied..
A. ideas . B. fancies C. passions - D. feeds

~ He is a person of sound character and ...... disposition.
A. beneficent ~ B.  morous ~ C.  amiable - D. amicable-
If I take a state roadways bus, I'll get late, ...... 2 2
A. isn'tit B. won'tl ©C. owillT ' D. isit

-In high school many of us never realised the importance that grammar would ...... in later
life.
A. figure B. portray C. play ' D. exercise
If you smuggle goods into the country, they may be ...... by the customs authority.
A. possessed B. punished C. confiscated D. fined
Man does not live by ...... alone. s ‘
A food B. bread C. meals D. diet
mmmm@mw@a ? : :
A @IS ~ B. wwafa qen =aEd fosnt
C.” Imfwm D. =EEIA HU
ATETH! STRA TR T TR AT G B 2

A FHFHERS B. @l C. wEH! D. T THE ®H
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&)  WRIEY 9. T R003

) TMEEETES . EqR008

3)  AREd 3. WRGS

3)  HeER A ¥, WAR00G
S S |

A3 R ¥ 9

B. 3 9 ¥

N R A T ()

D. ¥..%:9 'y

Xerophytes & SEAfEeR 'GEE'@T ?

A. TEE g FTefiee

B. TIUIh! T AT SR ! FIEMHT §ohA FATINIRE
c. wmmwmgﬁm

D. Tifeht % 9fq 25 |

CIETES %! 99 $Hied % A S ?

A. afggeafedt. B, =@ . c. = D. TUS

"For a living Planet" G T S ae & 2 ;

A. TUCN B. UNEP C. WWF D. UN

TeaTE Toe WU S SUS faeed Sile THR : e -

w V[P xF N 0 E MIW Er? .W!I?MWE Ml
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D, U SR, W e, frer weem, At i wies e s, w
wfafage,
One who sacrifices his life for a cause is called................ )
A. Patriot B. - Martyr - C. Revolutionary D  Soldier
* Find out the synonyms of the underline,italic word.
Silence is mandatory for meditation to be effective. ’ :
A. compulsory - B. necessary C. .réquired D. needed
" A person who speaks many languages is called ......... Pk £n T
A. Linguist B. "Monolingual C. Polyglot D. Bilingual

..............

Chronology D. Ethnology
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93. I U e S o eI W Fier el Wbl B 2

A = B. S c. Tz D. ™
94. In a changing and ...... unstructured business environment, creat1v1ty and innovation are
being ...... demanded of executives. .
A. highly, extremely ' B. progressively, increasingly
C." increasingly, moderately v D. excessively, rapidly

95.  Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

On account of the dearth of grass on the arid plains the cattle became ......
A. flippant B. jubilant C. agitated D. emaciated

96. TRAATEE FarE WU T SUGTh fashed S 9oy ?
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98. Tavaey Feaw, 096 I ST Gl A e TS ST TR o |
A 3, ¥-q, TEe e B. T, 4-0, TH
C. e, y-o, @Sl nfeE . D.. &, 4-0, |WH :
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A, ©5R B. &eXR C. g -.° D. Te.0%
100, THE TR TEHR TS G- four 559 2
%. Government service . Public service 2
R # Cormnuhity leadership ¥. Emergent leadership ’
: A HIGHAR B, @ITW®  C. WIGEH D. T
Q.No. | Answer Explanation
Key
1 D |2A |3B . [4€C [5A [6D |
T A ) 4 3 4 3 _ 4 -3
-4 Z—>W——>3S > P ,L——>I—->E—-—>(B)
NP C 42 42 42

gfga S : Q— S— U— w-—> )
><1+1 x2+2 x3+3 x4+4

AT ST 1 22— 6 > 21 > (88)
s -1 -1 B |
g 9vfi F— E— D— C— (B)

9. A. The pattern on fig. (X) and also the fact that the faces are réctangle, indicate that only
fig. (1) can be obtained by folding fig. (X). 3
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10. D
131 A MIND
|11
KGLB
12. D. In each row, the third ﬁgure is a combmatlon of the first and the second ﬁoure
13. D :
14. D --|15.C 16D ] ]
17. D. The figure may be labelled as shown.
The simplest triangles are AJF, FBG, GCH, HDI and IEJ i.e. 5 in number.
The triangles composed of three components each EBH, AIC, EFC, ADG and BID
i.e..5 in number. .
- Thus, there are 5 + 5 = 10 triangles in the ﬁgurc.
18. D - )
19. ‘A |20 [21 D
222 A 27%@%gznh@@@q@|%tmsenesa%aw 27, 30, 33, 36
8 T ST Series 7, 21, 23, 259 FeHI B
So, the missing number is 27
23. | B
24. e Percentage increase in marks in various periodical exams compared to the previous
exams are:
365 — %
|ForJun 01 = I ‘65360360) x 100 (% = 1.39%.
370365
For Aug 01 = [g—% X 100]% =.1.37%.
For Oct 01 = ,3853;0370) x 100 % =4.05%. ' .
o 400 - 3RS :
For Dec 01 = [%“l X 100:]% =3.90%.
: [(404 — 40 ]
For Feb 01 = ‘( 0‘110(;1 0) x 100 (% = 1.25%.
Clearly, highest percentage increase in marks is in Oct 01. -
25.- B Here it is clear from the graph that the student obtained 360, 365, 370, 385, 400 and
g < 405 marks in periodical exams held in Apr 01, Jun 01, Aug 01, Oct 01, Dec 01 and
Feb 02 respectively.
05
Requlred percentage = (§6—O— X 100) % =112.5%
" 26, B . T T(370+385) 755
Required percentage = ,:m X 100]% = (l 000 % 100)% =75.5%
27. C Average marks obtained in all the periodical exams

= ‘é‘ x [360 + 365 + 370 + 385 + 400 + 405] = 380.83 =z 381.




133

- 28. A As is clear from the graph, the total marks obtained in periodical exams, go on
increasing. Since, the maximum marks for all the periodical exams are the same; it
implies that the percentage of marks also goes on increasing.

Thus, in none of the periodical exams, there is a fall in percentage ‘of marks compared |
to the previous exam.

29. D. The number of sides of the central figure increases by one and the number of line
segments attached to the central figure decreases by one.

- 30. C In all other figures, the two line segments are parallel to each other.

31. A 132.C 133D |34A [35A [36C [37.A [38A [39.A |40D

41. B 42.D 43.B |44.D |45.A :

46. D. 5

U
(O =mafr

47. D |fizus Jvit owe +8,+10, 412, +14.. R BI . 3% T@AT70 + 18 = 88

48. D |4D | '

50. D |sfam 7 aasEe s
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sfeons fag ot 1 52 @/
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51. c g ‘
a R - T 20-3 '

??§—$§$= 5.3 =111

52. D  i5f=240x5=1200km
ST T = 1200 = 720km/hr
: 3

53. € 54.C

55. D |56C |57.C_ |58B |59.B [60.B_ [61.C [62.C [63.B [64.C [65.C

66. B |67A |68B |69.A |70.C |71.A '

72. C

' The .symbols move in the sequence [&===l and the symbol at the encircled position

: gets replaced by a new one. .

74. ) : : :

e B As many pins are introduced inside the figure as the number of sides of the figure.
These pins start from the centre of the figure and havc their heads pointing towards
the sides of the figure.

76. B . - _

i D 78.C 79A [80B [81.B [82.B [83.A [84C [85.A (86D "|87.B

88. D [89.A |90C |91.B [92C [93.C {94B 95D

96 D The circles are converted to hexaoons and semlmrcles are converged to half-
hexagons.

98.C

97. A

99.B [100.D






